
三人称単数現在形 [並び替え問題]

＜問題＞
次の日本文に合うように，[　]内の語 (句)を並び替え，英文を完成させよ。
ただし，不要な 1語が含まれている。
(1) 彼女は踊ることが好きです。
[ dancing / likes / she / like ].

She likes dancing.

(2) 私の父は英語を教えます。
[ father / teaches / teeth / English / my ].

My father teaches English.

(3) エミリーは日本語を上手に話します。
[ Emily / Japanese / well / spoken / speaks ].

Emily speaks Japanese well.

(4) 私の祖母は古い映画を見ます。
[ old / an / grandmother / look / my / watches / movie ].

My grandmother watches an old movie.

(5) 彼女は青いカバンを持っています。
[ a / she / has / have / blue / bag ].

She has a blue bag.

(6) 彼女はケンを知りません。
[ Ken / doesn't / don't / she / know ].

She doesn't know Ken.

(7) 彼女は 11時に寝ますか。
[ she / does / bed / to / goes / at / eleven / go ]?

Does she go to bed at eleven?

(8) 彼は放課後にサッカーを練習しますか。
[ does / after / school / plays / soccer / practice / he ]?

Does he practice soccer after school?
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三人称単数現在形 [並び替え問題]

＜問題＞
次の日本文に合うように，[　]内の語 (句)を並び替え，英文を完成させよ。
ただし，不要な 1語が含まれている。
(1) 彼女は踊ることが好きです。
[ dancing / likes / she / like ].

She likes dancing.

(2) 私の父は英語を教えます。
[ father / teaches / teeth / English / my ].

My father teaches English.

(3) エミリーは日本語を上手に話します。
[ Emily / Japanese / well / spoken / speaks ].

Emily speaks Japanese well.

(4) 私の祖母は古い映画を見ます。
[ old / an / grandmother / look / my / watches / movie ].

My grandmother watches an old movie.

(5) 彼女は青いカバンを持っています。
[ a / she / has / have / blue / bag ].

She has a blue bag.

(6) 彼女はケンを知りません。
[ Ken / doesn't / don't / she / know ].

She doesn't know Ken.

(7) 彼女は 11時に寝ますか。
[ she / does / bed / to / goes / at / eleven / go ]?

Does she go to bed at eleven?

(8) 彼は放課後にサッカーを練習しますか。
[ does / after / school / plays / soccer / practice / he ]?

Does he practice soccer after school?
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